Complete the number sentences using these cards.

x 10 +10 x 100 + 100
25 =25
7 =0.07
3.6 =360

Annie has collected 10p coins.
They are worth £10.

How many 10p coins does Annie have?

Lake School collected 10p coins for charity.
They raised £31.50

How many 10p coins did they collect?

8 friends share £434 equally between them.

How much does each person receive?
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There are 275 children in Fernley School.
They get into groups of eight.

What is the largest number of groups of eight that they can make?

groups
1 mark
Write in the missing digit.
The answer does not have a remainder.
2 6
3 ) 8
1 mark
Five children shared 4 packs of sweets equally.
What fraction of a packet did they each receive?
1 mark
Write in the missing numbers.
_L14-[]5
81438
1 mark
Write the missing digits to make the calculation correct.
7. b
4 1 1 5 1
1 mark
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